4

5

6

Mast

BOOM

~~.

Base

Spreader bar

Actuator

Rear castor with brake

Front castor

®|~|o ;|| w N

Carriage bolt, 3/8-3"

Plastic Nut, 3/8

Bolt, 3/8-2 1/2

Ring ,

Pin

Legacy control box

Pedant

= =_RWI === NN -

-
e

DPL-400EL assemble explosion chart

A

B

C
REV. DESCRIPTION BY DATE APPD. DATE | ECNNO.
1-6 +0.1 DRN. MATERIAL i}/m

6-30 | 0.2 | DSN. FINISH NONE 4

TOL. _U
30-100( +0.3 | CKD. | Berton NAME UNIT|mm
100-300| +0.4 | APPD. | Berton DPL—400EL assembldguelvone
. DWG. NO. revl o
Bestcare Medical CO., LTD. | expiosion chart [y

4

6




3 _ 4

5

6

\ @VM

PL400H/DPL400EL Mast assemble explosion chart

£

1.| Mast 1
2. |Cover,1" 2
= 3. |Spring Spacer, )5 1
4. |Bolt,M5-8L 1
T
REV. DESCRIPTION BY DATE APPD. DATE | ECNNO.
1-6 +0.1 DRN. MATERIAL A m
~L oLl 630 | 02 | DSN. FINISH NONE 4
| 30-100| 0.3 | cxo. | Berton wame PL.400H /DPL40O0EL [unr|mm
100-300| 0.4 | APPD. | Berton Mast assemble [culoe
. DWG. NO. . Rev.| O
Bestcare Medical no< LTD. | Explosion chart =
3 4 _ 5 _ 6




3 |

4 |

5

6

PL400H/DPL400EL BOOM assemble explosion chart
A
1. BOOM 1 ||
2. |Washer,plastic 2
3. |Brush,©10 2
4. |Cover,25x50 1
B
C
2013-08-07 [
REV. DESCRIPTION BY DATE APPD. DATE | ECNNO.
1-6 +0.1 DRN. MATERIAL }m
oL 830 | £02 | DSN. FINISH NONE N4 0
| 30-100] 0.3 | cro. | Berton wame PL40O0H /DPL400EL [unt|mm
100-300 0.4 | APPD. | Berton Boom assemble [wuione
. G. NO.
Bestcare Medical C0,, LTD, | Explosion chart fot>

4 |

5

6




2 _ 3 _ 4 _ 5 _ 6

PL400H/DPL400EL Spreader bar assemble explosion chat

1. |Spreader bar 1
2. |Brushing,1" plastic 2
3. [Tube,Rotate 1
4. |Brushing, plastic 2
5. [Naviet 2
6. |Cap,1/2" 6
7. |Cover,1 1/8" 4
8. |Cover,1" 1
2013-08-07 -
REV. DESCRIPTION BY DATE APPD. DATE | ECNNO.
1-6 +0.1 DRN. MATERIAL }m
oL B30 | ¥02 | DSN. FINISH NONE 4
30100 +0.3 | CKD. | Berton NAME  PL40OH /DPL400EL [uNIT{mm
100-300| +0.4 | APPD.| Berton Spreader bar assemble [seuelvone
. DWG. NO.
Bestcare Medical CO,, LTD. | £y i0sion chart [

2 3 4 _ 5 _ 6




2 _ 3 _ 4 _ 5 _ 6

PL400H/DPL400EL Base assemble explosion chart

1. |Base 1
2. |Leg assemble-right 1
3. |Leg assemble-light 1
4. |Bolt-M16-90L 2
5. |Cap-rubber 2
6. |Spacer,[116 2
7. |Nut,M16 2
8. |Tube,Rotate 2
9. |Cap, 9 2
10. | Joint bar 2
11.| Bolt,M10-30L 4
12.| Washer,M10 2
13.| Washer, $10-¢38 1
14.| Bolt,M10-20L 1
15.| Nut,M10 2
16. | Foot pedal 1
2013-08-07
REV. DESCRIPTION BY DATE APPD. DATE | ECNNO.
1-6 +0.1 DRN. MATERIAL iﬂm
oL B30 | ¥02 | DSN. FINISH NONE 4
30100| 0.3 | ckp. | Berton wame PL400H /DPL400EL|un|mm
100-300| 0.4 | APPD. | Berton Base assemble |whoe
Bestcare Medical CO,, LTD. | Explosion chart {ou>

2 3 4 _ 5 _ 6




3 _ 4

_ 5

_ 6

PL400H/DPL400EL Leg-right assemble explosion chart

1.| Leg-right 1
2. |Rear castor with brake 2
3. |Front Castor, 3" 2
4. |Washer, 1
5. |Nut,M12 1
6. | Cap,Plastic 1
7. |Blot,1/2" 1
8. |Nut,1/2" 1

2013-08-07

REV. DESCRIPTION BY DATE APPD. DATE ECN NO.

+0.1 DRN. MATERIAL }m

oL B30 | ¥02 | DSN. FINISH NONE 7

. 30-100( +0.3 | CKD. | Berton NAME _U_lu_.OOI\D_U_lu_.OO_m_l UNIT|mm

100-300| +0.4 | APPD. | Berton Leg—right assemble [suelone

n DWG. NO. Rev.| O

Bestcare Medical CO,, LTD. | Explosion chart

3 4 _ 5 _ 6




2 3 _ 4 _ 5 _ 6

PL400H/DPL400EL Leg-left assemble explosion chart

1.| Leg-left 1

2. |Rear castor with brake 2

3. |Front Castor, 3" 2

4. |Washer 1

5. |Nut,M12 1

6. | Cap,Plastic 1

7. |Blot,1/2" 1

8. |[Nut,1/2" 1
2013-08-07
REV. DESCRIPTION BY DATE APPD. DATE | ECNNO.
1-6 +0.1 DRN. MATERIAL }m

oL B30 | ¥02 | DSN. FINISH NONE 4

30-100| +0.3 | CKD. | Berton NAME _U_lu_.OOI\U_U_lu_.OO_m_l UNIT|mm
100300 #0.4 | APPD. | Berton Leg—left assemble [souelnon
' DWG. NO. rev.| o
wmmﬁnm_.m Zmn__nm_ nO: _.._.U. Explosion chart [sur 11

2 3 4 _ 5 _ 6




2 3 _ 4 _ 5 _ 6

Adjusting pedal assemble explosion chart

1.| Adjusting pedal 1

2.| Slip pad 2

3.| Rivet 4
REV. DESCRIPTION BY DATE APPD. DATE | ECNNO.
1-6 +0.1 DRN. MATERIAL }m

oL 630 | 02 | DSN. FINISH NONE 4

| 30-100| 0.3 | cko. | Berton iavE PL400H /DPL40OEL [unm[mm
100-300| 204 | APPD. | Berton Adjusting pedal ommmBU_mmgmzozm
. DWG. NO. ) revl o
Bestcare Medical CO,, LTD. | Explosion chart f=f--

2 3 4 _ 5 _ 6




